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Section A (30 x 2 marks_)_

For each question from 1 to 30, four options are given. One of them is the correct

answer. Make your choice

Optical Answer Sheet (OAS).

¥

The diagrams below show eight insects, A, B, C, D, E, F, G and H.

The insects can be grouped according to the following classification chart.

Insects-

No wings

i

(1) AandC
(2) FandH

]

(1. 2, 3-or 4). Shade the correct oval {1, 2, 3 or 4) on the

A pair of wings Two pairs of wings
| I
[ [ l [ 1
Body Body and Body and Front All the
has a legs are legs are wings are wings are
narrow long, short much about the
waist bigger same gize
] | I I I
H. G A B
E

(3 B,CandH
(4) D,Eand G

Which insects in the classification chart have been grouped-wrongly?

(Go on to the next page)




S 2.

The diagram below shows the life cycle of a bird's nest fern.

aduit plant

spore

young plant

Which one of the following statemients about the life cycle of the bird's nest fern

is fiot true?

{1) Al bird's nest ferns go through the same life cycle. ,
(2)  The life cycle of the bird's nest fern is made up of three stages.

3 The life cycle of the bird’s nest fern ensures the continuity of its kind.
{4) Sunlight is unnacessary for each stage of growth of the bird's nest fern.

The table below compares the sexual reproduction of animals and flawering

plants.
' Animals Fl’owgzri'hg‘ ptants
Female r‘eproductivé cell Egg A
Male reproductive cell B C
Process whereby the female
reproductive cell fuses with X X
the male reproductive cell
Which one of the following correctly identifies A, B, C and X?
A B c X
(M | Egg Sperm Polien Fertiisation
(2) ~ Ovule Sperm Pallen Férti[is_ati'on
(3) Eagg T 'Sperm Pollen Reproduction
| @ Ovule “Pollen Sperm Reproduction

\~3

{Go on to the next page)
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An experiment was carried out with 2 groups of seeds, A and B.

Group A — Grown in light Group B — Grown in the dark

: seeds
Mt cotton@::[

" The average height of the 2 groups of seedlings over 12 days are shown in
graphs X and Y below.

P4AS

74
% Y
o 6-L
Q2
@
o0
& 5 X
=
e 4-1
[42]
3
o 3
=
[{®]
@ 2
0
3

1-—-_

| : b >
-0 2 4 6 8 10 12 Time (days)

Which one of the following shows correctly the graph and the explanation of the
results for'Group B?

Graph Explanation of results
(1) | X Seedlings are shorter due to overcrowding.
2) X Seedlings are shorter due to a fack of sunlight.
(3) Y Seedlings are taller due to overcrowding.
{4) Y Seedlings are taller due to a lack of sunlight.

(Go onto the next page)
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The flow chart below shows the processes involved in the human digestive

system.

Food
enters

Chewing of
food into
“smaller pieces

Y

Muscular
contractions
push the food
along

!

Churning of
food into a
partly-digested
form

l

Completion of
digestion at
A

!

Undigested

food is passed |

into B

" "Ab.s.orption of

e s

________________

Based an the information given in the flow chart, what are A, B, P and Q7

(Go on

A B P Q
@) stomach anus saliva nutrients
(2) stomach large intestine digestive juice water
(3) | smaliintestine large intestine digestive juice water
(4} | small intestine “anus saliva ﬁutrients
fo-the next page)




The diagrams below show a man lifting weights.

position 1 position 2

Which one of the following is true during the movement of his arms from position
1 to position 27 ' '

Muscles that . Muscles that Joints that make the

relax confract movement possible
)] - biceps . triceps - elbow joints
(2} triceps - biceps elhow joints
(3) biceps ‘ triceps " shoulder joints
4) triceps biceps shoulder joints

The diagram below shows Mei Ling running.

The following changes occur in Mei Ling's bady when she runs.

A Breathing rate increases.
B There is more carbon dioxide in the blood. ..
C More oxygen is transported to the leg muscles:

b Carbon dioxide is produced in the leg muscles..

In which order do these changes occur?

First —— - Last
) D A C B
@ D B C A
&) D B A C
@ D C B A
(Go on to-the next page)




A ring around the stem of a plant was cut off as shown below. The food-carrying

tubes as well as thefWater-carrying tubes were‘fottemoved.

-

Which one of the following diagrams shows the appearance of the stem after one

week?

(0

(3)

@

“)

(Go on to the next page)



An experiment was carried out to compare twao different types of soil, P and Q.
water ' '

funnel

soil sample

cotton wool

- O

— measuring cylinder

+— water
—— 1

The time taken for the water to pass through each type of soil was measured and
recorded in the table below.

Type of sail P ) Q
Time taken (seconds) ' 34 ) 18

How does soil P compare with soif Q?

Size of soil particles. Size of air spaces
(1) Smaller in P than Q Smaller in P than @
1(2) Smallerin P than Q Larger in P than Q
(3) . Largér in P than Q Smaller in P than Q
{4) Largerin P than Q Larger in P than Q

{Go on to the next page)




10.  Four students, Alice, Siti, Raju and- Tom were asked to observe the garden bottle
below. The garden bottle was placed near a window where there was sunlight.

tight-fitting cork

clear glass bottle

‘moist soil

Each siudent made a statenient about the garden bottle,

Alice : The plants will grow slowly as there are.limited nufrients in the
soil. )
"Siti : Thé plants cannot respire as oxygen cannot enter the bottle.
'Raju  : The plants cannot photosynthesize as carbon dioxide cannot enter the
the bottle. _ ' _
Tom : The plants can remain healthy for a few months as the bottle garden

is self-sufficient in terms of water, oxygen, carbon dioxide and nutrients.

Who made the correct statement(s)?

(1) Tomonly -
“(2) sSiti and Raju
(3) Alice and Tom
(4) Alice, Siti and Raju

(Ga on to the next page)
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The diagram below shows a model of a food chain.

Food Producer — Primary Consumer — Secondary Consumer— Tertiary consumer

~4—

[
L

Greatest percentage

lLeast percentage
of organisms

of organisms

phytoptankton 75% N

killer whale 2%
seal 7%

krill 16%

If the population of krillincreases, how will the other organisms be affected?

(1) The population of phytoplankton increases while the population of seal decreases.
(2) The population of phytoplankton decreases while the population of seal increases.”
(3) The population of killer whale increases while the poputation of seal decreases..

(4) The population of killer whale decreases while the population of seal increases.

(Go on to the next page)




‘LZ The diagrams below show the adapta_tions of some animals.

A— Carfying an air bubble in
water

el
T,

C — Allong and thin body : D — Colourful feathers
‘Which of the adaptations shown are for protecting the ‘animals from their
“predators?
(1) AandD only
(2) BandConly

(3) B,CandDonly"
(4) A,B,CandD

{Go on to the next page)
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13

Mr Lim counted the number of fish that lived in the upper, middie and lower parts of a
river.

Upper Middle SRS ) Lower
_part part L part

He recarded his findings in the gragh below.

Number of fis
A Y :
200
100 —
. 0 .
Upper = Middle h Lower

He also coflected a small amount of water from thase parts of the river. Then he
tested the water for X, a chemical present in pesticide, which is harmful to living
things. The amount of chemical X is measured on a scale of 0 to 10. A scale of 0
indicates that chemical X is absent and a scale of 10 indicates that the amount of
chemical X is the highest. . ‘

(Go on to the next page)
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Which one of the following graphs correctly shows the amount of X present in the

different parts of the river?

)] Amount of X

10
-3
0 _ L.
Upper ‘Middle- Lower i
(2) Amount of X
10
5= -
0 4
Upper Middle Lower - ’
(3) AmountefX
t
. Upper Middie Lower '
(4) - AmountofX
10
0
Upper Middle towsar
{Go on to the next page)
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14,

18.

Four jars are set up as shown.

btack box to prevent light
from entering

In which jar_will the amount of carbon dioxide increase the most after some time?
(1 W
2y X

3 Y
4 z

An experiment to investigate respiration was set up as shown.
wire gauze test tube
| ,
Y,

0 T

* germinating seeds drop of red ink

substance to
absorb carbon
dioxide

What happened to the drop of red ink and what was the reason?

(1) It moved towards the test tube because the Qerminating seeds took in
oxygen.

(2) 1tmoved towards the test tube because the germinating seeds gave out
oxygen.

(3) It moved away from the test tube because the germinating seeds gave
out carbon dioxide,

(4) It did not move because the amount of oxygen taken in and the amount of
carbon dioxide given out by the germinating seeds are the same.

End of Booklet A1
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16 Study the classification table below.

l

Materials

)

][

| |
( Group A
I

i | 1
Group B

)

F Iron, Steel, Nickel ] _ [Copper, Glass, Clear plastic]

The above materials are classified according to their

A: magnetic property

B: electrical conductivity
C: transparency to light'

(1) Aonly

(2) Bonly _
(3) AandB only
(4) A;BandC

17."_ Four materials have certain properties that are shown in the table below.

Propérty - Material
P Q R 5
Can float on water Yes No Yes No
Comes from a living thing Yes No Yes No
Can let light pass through No No Yes Yes
Which one of the following are likely o be P, Q, Rand 7
P Q R S
(1) - Wood Paper Iron Glass
{(2) Wooed Iron Paper Glass
{3) Glass lron Paper Wood
(4) Wood Glass Paper {ron

14

{Go on to the next page)




The properties of four different fiquids A, B, C and D were investigated. When the liquids
were placed together, they did not mix but formed separate layers. The following diagrams
show what happened when two of the four liquids were poured together into a container.

V4

/ A 3 JOL“\

/"—A - C OC—"B

4 D

Job It iE T

o c—B R I el
O -I;.‘ﬁ ﬁ#

Predict the correct position of the liquids when all four fiquids are placed together.

M H @ 3
c ' C
o3 @
o < S I o O B
A 7
OO )
0 O B e 2 D
@ v @ qoo
-// 'Qﬁ_s
C g 5" D
@ vy
A
oo ;. /7
e 3E o3
b g D ¢
{Go on to the next page)

15



14,

Z0.

The following graph represents the different states of water over a period of time.

Amount of heat

e em e mm e, m e, ——— -

3

-

P R

i
)
[
)
[l
L]
(]
]
L3
[
(]
]
r
3
t
r
T
r

Time

Based on the graph, what state of water could M and N represent?

M N
(N Solid Liquid :
(2) Liquid Solid ;
(3) Gas Solid
() Gas Liquid

John set up an experiment to study the water cycle.'

)
{

{ce cubes

water droplets
‘cloud’

hbt water

John later drew a diagram to represent this water cycle as shown below.

C

A ' B
_ ﬁ Water droplets

not wafter

Which option correctly represents the processes of evaporation and condensation?

Condensation

Evaporation
(1) A B
2 B C
(3) C A
4 Cc B

(Go on to the next page)




24.  Aaron used the cireuit tester to test four objects wrapped with coloured tape. Then he
recorded the results in the table below.

Object A
777774 Object B
V27777 Object C
E77774 Object D

. Does the buib light up?

) Obieci Yes No

A . v‘//,,
B v

c +/

7

D Y

Which one of the following statements is"@_t-true"? '

(H
2)
(3)
(4)

One of the objects is a metal.

All objects formed a closed circuit ..

Three objects are insulators of electricity.
The voitage of the battery is sufficient to light up the bulb ..

will light up with the same brightriess?

-

(1)
(2)
(3)
4)

10

@ & (i)
(i) & Giiy
(if) & (iii)
(i) & (iv)

i f——,

R
(i)

17

(i)

The following circuits are connected with similar electricat components. Which two bulbs

et 1 [t

(iv)

(Go on to the next page)



Mark found an iron d:sc at the bottom ofa heavy plastxc tank half t‘ Iied w:th 01! as shown in

......

smalf opening

plaslic tank

fioor

iron disc

Which one of the following statements isi€orrect?

(1) Oil was magnetised by the magnet

(2) Magnetism can pass through the iron disc.

(3) Oil and plastic tank were magnetised by the magnet .,
(4) Magnetism can pass thrcugh the oit and plastic tank -

Two toy cars were each fixed with a magnet of equal strength. When they were placed
together, they moved towards each other as shown below.

Explain what could possibly happen io the ball.

Magnetic attraction indirectly caused the ball to speed up in the same direction
{f;{ Magnetic repulsion indirectly caused the ball to speed up in the same direction
B Magnetic attraction indirectly caused the ball to slow down in the opposite direction.
m Magnetlc repulsion indirectly caused the ball to siow down in the opposite direction.

{Go on to the next page)
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25. . The graph below shows the length of a spring when various_masses are attached to it.

30
//
/
20
tength of v
spring (cm) -
10
1] 20 . 40 60 g0 100
Mass (g} |

Assuming the spring extends proportionately, what will be the &xtension of the spring
when a mass of #15¢ is-attached:to it?

1 22 -
() 23
3y 32
(4) 33 .

26. - The curve in the diagram shows the path of a ball that has been thrown into the air.

X

Which ane of the following statements is fidie about the gravitational force between

Xoand Y?
{1) it increases .
2) It decreases.
(3) It causes the change in the direction of the ball.
(4) !t only starts to act on the ball from point X onwards

-(Go on to-the next page)
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27 Karmmal attached two triangles on a bar as shown below. The bar was heated for five
minutes. Karmal touched the triangles and found out that triangleX:is' warmer than

triangle Y.

<>

> Y

What is the best possible explanation for the observation made?
(1) Heat transfers from a hotter region to a cooler region.
(2) Both triangles X and Y are good conductors of heat.

(3) Triangle X is a befter conductor of heat than Y.
(4) Triangle Y is a better conductor of heat than X.

28. Jinghua performed an experiment using the set-up below.

white screen

cirqular card with
a star-shaped hole

) @

{Go on to the next page)
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" The table below shows how some electrical appliances convert electricity to forms of
usefut energy to carry out their functions.

potential energy

Efectricity
| — ! ]
Computer L Iron l Hair dryer
E i - F G H
Which one o‘f‘the following correctiy identifies E, F, G and H?
E . F G H
i) Kinetic energy Sound energy Light energy Heat energy
{2} Light energy Heat energy Kinetic energy Sound energy. |
(3) " Heat energy Kinetic energy Sound energy Light energy
4) Sound energy {ight energy Heat energy Kinetic energy
Study the diagram below.
Electrical |, Chemical
energy ag——— potential energy
P _
K Ki:?etic L
Heat and Heat and
fight energy energy ®-1 sound energy
& m
Gravitational

Which one of the foﬂowirig best represents the activities J, K, L and M?

21

J . K L : M
(1) Switching Lighting a candle Bouncing a ball ~ Jumping down
on a torch from a height
(2) | Lighting a candle Burning of wood Switching Bouncing a ball
- ' on a torch
(3) | Bouncing a ball Switching Switching on a Burning of wood -1,
on a torch ceiling light
4) Jumping down Switchingon a Burning of wood Switching
from a height cefling light on a torch
----------- End of Booklet A -—-e--——
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Section B (40 marks) l

For questions 31to 44, write your answers in the spaces provided.

31. The following flow chart shows how Farmer Tan rears his ducks.
Ducks lay eggs. ' ' Ducks are sold.
Ducks are képt for 1
4 laying eggs.
Eggs are putin an o _ No
incubator for _ Yes
hatching.
Do they lay
healthy eggs?
y
Duckiings are fed ‘ ' X
with Type X ' '
grains. - C
x : : Yes
’ No
‘ : No
Do they weigh Ducklings are fed ¢ Do they weigh |
more than 1.5kg? [_YeS { with Type Y . »| more than 3.5 kg?
| grains.

(a) State two characteristics: of living-things:that are shown in the above flow chart. {1 m)

Characteristic 1:

Characteriétic 2:

';(b) Which of the following statements about how Farmer Tan rears his ducks are true?
g Tick (V) the appropriate boxes. : (tm)

Tick (¥)
i | Bucklings weighing 1 kg will be fed Type X grains. -

ii_| Ducklings weighing 2 kg will be fed both Type X and Type Y grains.
i | Ducks that lay unheaithy eggs are sold. '

iv | Ducks that are kept for laying eggs weigh more than 3.5 kg.

{Go on to the next page)
SCORE :
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32.  Hassan did a”study of the life cycie of two animals, A and B. He recorded his

observations in the tabie below.

Life Cycle of Animal A

Life Cycle of Animal B

.':é g
R
1 | Eggs are { - : \ _
: _ —* “laid in W - i nymph Eggs are
. -water. _ it [aid ON
- | _ \—// . land,
(@  What can Animal A and Animal B be? {1 m)

Animal A :

Animal B :

(b)-" -Both the larva of Animal A and the nymph of Animal B go through moulting
’dunng ‘their growth to become adults. How is mouitmg important to the growth of

the tarva and nymph? (1m)
{Go on to the next page)

SCORE
2
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33.  The diagram below shows two fruits, P and Q.

soft hair
stiff hair

P Q
(a) Name the methads of dispersal for fruits P and Q. _ {1 m)
FruitP ;. dispersal
FruitQ : - . dispersal
(b) E,ggplam why it is.i,g;%ggant for seeds to be dispersed. {(1m)

(c) Aﬁd_ispersed fruit may not preduce a new plant. Give a reason why this is so. (1 m)

(Go on to the next page)
SCORE ’

24



34. The following experiment is carried out to investigate the partiai permeability ofa

freezer bag.
L=
- —

icdine solution — : ]

- {brown) i o . freezer bag

mixture of starch —i= . _
and water SN L -
(whitish) - ‘ - ==

£

jodine solution
(brown} ’

mixture of starch —
and water
(dark blue)

End of experiment

(lodine solutio.n is used to test for the presence of starch. If starch is present, the
brown iodine solution turns dark biue.) .

@) Filt in each blank with the correct word. (1 m)

From the above q,bséwatiﬁﬁél'made, it can be concluded that the freezer bag-
allows " __to pass through, but not

- {b) The freezer bag is pértially permeable as it allows certain substances to pass
through but not others. In this aspect, which features of a cell are the (i} freezer
bag and (i) the contents in the freezer bag similar to? - (2m)

2 ()] Feature similar to freezer bag :

- (ii) Feature similar to the contents in the freezer bég :

{Go on to the next page)

SCORE
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35.  The diagram shows a forest beside a river.

The forest is cut down.

(a) How does deforestation affect the condition of the water in the river? {1 m)

(b)  How does deforestation lead to globalwarming2: ' 2m)

(Go on to the next page)

SCORE }
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36.

@

(b)

(©

Many plants such as tall forest trees and animals can be found in a tropical
rainforest.

How dees the heighit of the tall forest trees help them to survive well in the forest?
(1 m)

Many species of birds, mammals and other animals make their home in the
rainforest because the plants provide them with shelter. Give another reason why
these animals live in the rainforest. _ o (m

Among the falien leaves on the forest floor are organisms such as mushrooms
and bracket fungi. How are these organisms important to forest plants and animals?
’ (1 m)

(Go on to the next page
SCORE

27




37.  Kim set up an experiment to investigate how the amount of light affects the rate

of photqs_,y_'{lt.!’_\es_is pf a pia_nt.

beill jar cavered
with fracing paper

bell jar covered
with black paper

OXygen sensor
- and plant
inside bell jor

datalogger

. Set—ﬁp A | Set—'up B

(a) The four conditions that are. necessary for plants to photosynthesise are light,
carbon dioxide, water and chlorophyll. Which of these mentioned conditions are
combined to make sugar? (1m)

. (b) ‘How does the oxygeri sensor placed insids &ach bell jar indicate the rate of
photosynthesis of the plant? . . : {1t m)

{Go on to the next page
SCORE




(c) Kim's teacher told her that she should include a control for her experiment.
Which one of the following is a suitable control? Indicate your answer by putting

a fick (¥) in the correct box below.

(1 m)

bell jar covered
with black paper

axygen sensor
inside bell jar

datalogger

bell jar

)

datalegger

bell jar covered
with tracing paper

datalogger

oxygen
sensor

R s

beli jar

N 1 )
@g datalogger

(d) What js the purpgse of the controf in Kim's experiment?

(1m)

End of Booklet B1
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38.

(a)

(D)

39.

(a)

{b)

Minah wanted to find out the properties of some materials. She conducted some
experiments with the materials and recorded her findings in the table below.

Material Allows electricity to pass through? | Can conduct heat well?
S Yes Yes
T Yes Yes
U Yes Yes
\ No -~ . . No
W iNo No

Based on the findings, what can you conclude about the materials that can allow
electricity to pass through? o C (1m)

Minah then grouped the materi;ls into two groups. Fill in the possib'ié headiﬁgs of the

two groups in the classification table below. (1m)
L Materials } |
|
1 ' Y _
[ S T,U ] [ v.w ]
ook at the diagram below. 7 Y

{water fn the kettle) Q

Fill in the letters "P._Z., ‘Q, Y and ‘Z_correctly into the table below. (2 m)
Matter Non-matter
What happens to the steam before it becomes P?. (1m)

(Go fo the next page)
SCORE '

5
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40,

im
(b)

{(c)

Anhie wants to know how a very warm day affects the rate of evaporation. She set up
the experiment as shown below.

{ce cubes
onnoo*t T nnN0n
e /

Thin plastic sheet

—_— /% waterat28°C —_ T ~/4— waterat35°C
Set-up A ' Set-up B
At normal On a very
temperature warm day

What will Annie observe on the underside of the two thin plastic sheets in both Set-up

A and Set-up Braftgr 30 minutes? y {1 m)
infer how a warm day affects the rate of evaporation. _ ' (1 m)
. What is global warming and name an effect of giobal warming. _ (2 m)
(Go to the next page)
SCORE ' ,

4
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41.  Study the following circuit below.

i ®
metal clip H nail ﬂ ﬁ thread

R—==—@

C  metal pin B

(a) Which bulb(s) will tight up? {1 m)

{by If yod were told to rearrange the four ohjects in the circuit, fill in the blanks with the
objects so that all the bulbs will light up. , (1 m)

C
{c) Indicate with a X’ on the above circuit diagram the place you would insert a switch to
switch on or switch off all the three bulbs. . ‘ ‘ _ (1m)

_ (Go to the next page)
SCORE )

32




42, The following diagrams show four activities, E F,GandH.

F: =
o0
W
G y; - H // >

(8  Write the letters 'E’, ‘F', ‘G’ and 'H’ correctly in the classification table below. (2 m)

s

Forces

[ Pull J [ Push ] [ Push and PuHJ

| | |

| R | —

() In Activity E, the boys holding onto the rope are able to grip it firmly. Explain why this
is so. . _ S . (1m)

(Go to the next page)

SCORE!
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43. The graph below shows the relationship between the speed of a bali and the kinetic
energy it hds when it was falling frofn a height.

Kinetic energy
F S

*» Speed

(@) Based on the graph, what can you infer about the speed and the kinetic energy of the
* falling ball? (1. m)

{b) Draw on the graph below the changes in the potential energy of the ball when it was
fallmg at the above speed. - (1 m)

(Go to the next page)
SCORE

34




44, The Sun is our primary source of energy. Complete the classification table below. (1 m)

(@) [ Sun ]

gives out
I _ | .
[ Light J [ ' . ' ]
absorbed by ' | absarbed by

[ ' J [ , solar panels J

i eaten by used for

O N ; ‘
[ Living things J [ Heating water ]

{b) Fossil fuel is a natural source of energy that we widely used. State 2 disadvantages of
using it and explain why:thissis-so. - {2m)

Disadvantage 1:

Disadvantage 2:

----- —- End of Booklet B2 -————

(Go to the next page)
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Answer

EXAM PAPER 2010

SCHOOL : MGS PRIMARY _
SUBJECT : PRIMARY 6 SCIENCE

TERM : PERLIMINARY

QL1 Q2103 | Q410510607 | Q8 | Q2 |Q1071C11 Q12| Q13 Qi4 Q15| Q16

Q17

3 4 1 4 3 2 3 1 1 3 2 2 3 4 1 1

01810191020 | Q21 | Q22 [Q23 | Q24 | Q25 | Q26 | Q27| Q28 [ Q29 | Q30 |

3 4 3 2 2 4 4 2 3 3 1 4 1

31)a)1)Living things can grow. 2)Living things can reproduce.
b)i)} iii) iv)

32)a)A: Mosquito B: Cockroach :
b)it allows the larva and nymph to grow. (bigger)

33)a)P: Animal Q: Wind

b)This prevents overcrowding, reducing competitlon between the parent
plant and the young plants for water, nutrients and space.

c)The fruit may land on ground that has no water for the seed to
germinate.

34)a)iodine, starch
b)i)cell membrane ii)cytoplasm

35)a)The roots of trees hold the soil to the ground. By removing trees, the soil
is easily washed away by the rain/blown away by the wind into the river,
making the water muddy.

b)There will be fewer trees to take in carben dioxide to carry out
photosynthesis, resuiting in more carbon dioxide in the alr Thus, more heat is
trapped and this leads to global warming.

36)a)They are able to get the greatest amount/a lot/a large amount of
sunlight.

b)They can find food in the rainforest.

c)These organisms decompose the fallen leaves and thus help to recycle
nutrients in the forest.
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Answer Key


37)a)Carbon dioxide and water.

b)The oxygen sensor measures the amount of oxygen given out by the
plant over the during photosynthesis. This will then indicate the rate of
photosynthesis of the plant.

o]0
LI

d)The control allows for comparison with set-up A and B to confirm that
~ the amount of light affects the rate of photosynthesis of a plant.

38)a)A conducter of electricity us also a good conductor of heat.
(or) Materials that can conduct electricity can also conduct heat well.
b)Metals, Non-metals OR Good conductors of heat, Poor conductors of
heat. '

39)a)Matter: Q, P, Y Non-matter: Z
b)The steam loses heat to the surrounding and changes from a gas to a
liquid. (OR) The steam condenses into water droplets.

40)a)There will be more water droplets on the underside of the thin plastic
sheet in Set-up B than A.
"~ (OR)There will be less water droplets on the underside of he thin piastic

sheet in Set-up A than B.

b)The rate of evaporation increases.

c)Global warming is the rise in temperature on Earth.
Global warming cause extreme weather conditions such as droughts and
floods. ’

41)a)C.
b,c)

®->

N -%!ll_li. T
metal {lq- E thre j H natl "

&
é

42)a)E H,F G
b)There is friction between the rope and the hand making it possible for
the boys to grip the rope firmly.
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43)a)The greater the kinetic energy, the greater the speed of the falling ball.
(OR) The greater the speed of the falling ball, the greater the kinetic

energy. _ : , ’

b) .

| Energy skl

) Kinetic energy

Speed

44)a)tight Heat
Plants

b)1: Once depleted, fossil fuel takes a long time to replenish as the
decomposed materials take a long time to break down to from fossil fuel.
2: Burning of fossil fuel releases carbon which traps heat in the
atmosphere, which causes global warming.
(OR)3: Burning of fossil fuels releases poisonous gases that may cause air
pollution or acid rain.

Page 3






